
EBL-TD course, Answer form for test 
       law 
1  c    not L16 nor L 24 
 
2  c   35D 
 
3  a   28B 
 
4 3NT - 1   40 : undisclosed partnership agreement 
 
5 yes    46B, heading  
 
6 result stands   no consequent damage 
 
7 3NT + 1   40C (75)  a 100% contract 
 
8 a) yes      25B 
 b) yes      25B 
 
9    a  b  c 
 forbid spades  no  yes  yes 

require spades no  no  no 
forbid diamonds no  yes  yes 
require diamonds no  no  no 
forbid clubs  yes  yes  yes 
require clubs  yes  no  no 
law   26A  26B  26B 

  
10  yes   16,  no logical alternative 
 
11 South gets  10   tricks  not L 70 C2 
 
12  Milan – Rome    12 - 10   VP 
 
13    11    tricks  64B6 
 
14 the top is  206 
 
15 no offence, result stands 40A 
           law 
16 South may change his call, in which case the 2♣bid 21B 
 is removed too. 
17 he may make any call, if it shows just ♣ partner passes  29C,31A2 

once, otherwise partner passes continuously 
18 he must pass in his first turn to call   30A 
  


